VY_32_INOVACE_AJ4_14 15

Sablona IlI/2 - Inovace a zkvalitnéni vyuky prostfednictvim ICT

PHRASES
there is
there are

evropsky &
- fondvCR  EVROPSKA UNIE o0 Lonhusaceschopmset

INVESTICE DO ROZVOJE VZDELAVANI




VY_32_INOVACE_AJ4_14_15

Anotace: material obsahuje 2 listy Uvodu, 3 listy s Ukoly a 4 listy s feSenim

Sablona: III/2
Nazev: Inovace a zkvalitnéni vyuky prostrednictvim ICT

Téma: Phrases: there is, there are

Autor: Mgr.Jana Jandikova

Ocekavany vystup: Zak rozumi sloviim a jednoduchym vétam, umi odpovédét na otazku
Kliova slova: there is/ isn't, there are/ aren't, comrect, look for, change

Druh uéebniho materialu: material pro interaktivni tabuli Active Board

Cilova skupina: zak 1.stupné ZS

Typicka vékova skupina: 10 - 11 let

Pouzité zdroje a material: ucebnice a pracovni sesit Happy street New Edition, Stella Maidment, Lorena Roberts,
Oxford University Press 2009

obrazky dostupné pod licenci Public domain na www.clker.com/clipart
http://www.clker.com/clipart-13241.html

http://www.clker.com/clipart-2432.html

http://lwww.clker.com/clipart-store.html

http://www.clker.com/clipart-12404.html

http://www.clker.com/clipart-12031.html
http://maww.clker.com/clipart-cartoon-castle-1.html

http://www. clker.com/clipart-15369.htm|

http://mwww.clker.com/clipart-bench.html
http://mwww.clker.com/clipart-bench-g-aoi-1.html

& F
evropsky / I 3

socialni oW il
- fondvCR EVROPSKA UNIE pra konkurenc esc hopnont

INVESTICE DO ROZVOJE VZDELAVANI

Autorem materialu a vSech jeho ¢asti, neni-li uvedeno jinak, je Mgr. Jana Jandikova




Correct the questions, change.

JindIndannam
|s there a church? |s there a castle? Are there six shops?
No, there isn‘t. Yes, there are. Yes, it is.

han e

Are there four trees? Is there a car park? Are there three benches?
No, thre arent. Yes, it is. No, there aren't.




Look for the location at the picture.

There are two trees and three bushes.
There is a castle.

There are two cars.
There is a dog.

There are two benches.
There is a school.
There is a fountain.
There is toy shop.

There is car park.

There is a girl.




Complete is or are.

Then answer the questions. Yes, there is/ are or No, there isn’t/ aren’t.
The town big.

There a square and there two parks in the town. u .'is | B'are

There twelve buildings in the square.
There a school in the square.
There eight shops in the square, too.

Yes, there is.

there a hospital?

there a school? [ Yes, there are.

there twelve buildings?

L | No, there isn't.l

there three parks?

No, there aren‘t.

there a bridge?

there eight shops?




ANSWERS




Correct the questions, change.

Is there a church?

MLATNAINam
a=g= g= =

Are there six shops?

Is there a castle?

Yes, it is.

No, thre aren’t.

Yes, it is.

Are there four trees?

Yes, there are.

han e

Is there a car park? Are there three benches?

No, there aren’t.

No, there isnt.




Look for the location at the picture.

There are two trees and three bushes. B3
There is a castle. A1

There are two cars. B1
There is a dog. A3

There are two benches. E4
There is a school. C2, D2
There is a fountain. E4
There is toy shop. E2, D2
There is car park. B2

| FI7T7] ] g et
There is a girl. F4 , PA| gy ﬂj A




Complete is or are.

Then answer the questions. Yes, there is/ are or No, there isn’t/ aren’t.
The town | is | big.

There | is | a square and there |are

two parks in the town.

There | are | twelve buildings in the square.

There | is | aschool in the square.

There |are| eight shops in the square, too.

is |there a hospital? | No, there isn't.

is [there a school? | Yes, there is

are |there twelve buildings? | Yes, there are.

are |there three parks?

No, there aren't.

is [there a bridge?

No, there isn‘t.

are | there eight shops? |Yes, there are.







